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What were the main features of the Code Napoleon ?
@G eeiiferaca euim R Baf 6 fee ¢

What were the principles of the Vienna settlement ?
ozt e Rre Tfowf R fee 2

How did the Zollverein foster German nationalism ?

(GTlereaiEn [Ferg e TTe oM Serlfze FEfeE ?

What was the role of Louis Kossuth in the Hungarian revolution ?
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4x5=20

PART-III
HISTORY - HONOURS
fion Paper- VII
+6
a3 .
Duration : 4 Hours Full Marks : 100
~ Candidates are required to give their answers in their own words as far as practicable.
The figures in the margin indicate full marks.
Answer Question No. 1 and any four of the rest.
> W2 2R} GR8 O) (F (I BT 2Aeeia Tt fued |
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fRent -3
1.  Answer any four of the following questions :
(A (@ 51 2rsia Ted e 3
a) How did Rousseau influence the French Revolution ?
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f) What are the principal differenes between pre-Marxian and Marxian socialism
Sfp-NIFA I @ SFIR AANGTOFANTR Wy A4 sAfwrafa f 2

g) What was Count Witte's role in Russian industrialization ?

h) How did the First World War lead to collépse tﬁe old Empires ?-

o3 R Pl en) seiejafem oien 8 safee »

GROUP - B
fetal - ¢
Answer any four questions from the following : 4 x 20 =8
A (A BT Aess S fiel ¢
2. Explain the Aristocratic Revolt in France. What was its significance ? 14 +

T Sfoete [z Aenal a6 | @9 Olesd & e 2

3. Discuss the achievements of the Constituent Assembly. Can these be characterized a

essentially bourgeoisie ? 12 +
R At AT S I | 93 FAFRSE & Jere ot w14 siwfrs @

4. What was the continental system ? How far was it responsible for the downfall d

Napoleon ? 6 +1
TR wﬁs% ? G2 AT FARRIGR *oeR &) Fof v e 2

o Do you think that the main centre of revolution of 1848 was Central Europe and not

France ?
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Was German unification achieved more by 'coal and iron' than by 'blood and iron’ ?
TNiT & afem [ 96 6 @MY TS swer ‘wwere (N Mo i @ ifas zefe ¢

Evaluate the reforms of Czar Alexander II. Why did they fail to stem the tide of

revolutionary terrorism in Russia ? 12 + 8
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Trace the development of Balkan nationalism. Did the Treaty of Berlin (1878) satisfy

the Balkan nationalist aspirations ?

T SISO Sfefa aefal e | A1 A (1878) R 4w TS RoRITICr Bl 7 FCe
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Can the period between 1870 -1914 be termed as the“Age of Imperialism' ?
1870 (ATF 1914 AR VISP [ HAGerIcna o’ <efl A 2

Assess the résponsibility of Germany in the outbreak of the First World War.
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